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Focus - Section 5.8 Special Right Triangles

Date
Find the missing side lengths. Leave your answers as radicals in simplest form.
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Geometry Honors Name: M E\{

Assignment 5.5t0 5.7 Period:

1) Given vertices A(-3, 7) B( 4, 7) C (-3, -1) , A

Find the perimeter and area. e K o B
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List the segments in order from smallest




State if the three numbers can be the measures of the sides of a triangle.
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State if each triangle is acute, obtuse, or right.
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Two sizfe‘s of a triangle have the following measures. Find the range of possible measures for
the third side.
10) 11,7 ) L*LX‘L"g 11) 12,12, OL%LQB\‘

W 7F X 2z~ 2412 v . X 429

Wy 7% X4\@ 125 X 712 YK»o

X+ 7 U Y7 Y .
12) 6,9, X 13) 10,8, ¥ 9 Ly £ |B
L¥Aryx VBYX  asyzs 0K FE X 272

LIXTA YUy 3 Br¥7io % %2
14) 10,11, ¥ 15) 8,6, %

W0l 7% 217X Btlb 7x \M7x 24X« \4

T wyl VEFE2Y grxs e wpT
Wi Y 7lo ¥ »=T1 b+x>rg % 72



awmMplest Rad s cad
Find the area of each triangle. Round-yourfinal-answer-to-2-places—
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1) No

5) No

9) Obtuse
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3) Yes

7) Right
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Name KE‘% Date Class
Challenge
&R Applying Properties of Special Right Triangles

Use the ﬁ'fopertigs of special right triangles to solve each problem.
Give your answers in simplest radical form.
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Problem Solving 5

| B Applying Special Right Triangles k=28
For Exercises 1-6, give your answers in simplest radical form. V7 ezl

1. In bowling, the pins are arranged in a pattern
based on equilateral triangles. What is the
distance between pins 1 and 5?
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} makes a 60° angle with the ground, how tall is the pole?
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